
No. Part name Qty. No. Part name Qty.

1 body 1 56 Star wheel within 1

2 pedestal 1 57 Line spindle 1

3 bowl spport 1 58 Outer ring gear 1

4 motor 1 59 Ordinary flat key type A 6 × 12 1

5 Ordinary flat key C type 5 × 18 1 60 Output shaft gear sets 2

6 Small synchronous belt wheel 1 61 Translocation ring 1

7 Lifting the handwheel 1 62 Bridge shaft 1

8 Handwheel permanent seat 1 63 Over bridge gear 1

9 Hand wheel 1 64 Bridge on gear 1

10 Bevel gear 1 65 Deep groove ball bearing 6201 2

11 Lifting screw 3 66 Ordinary flat key type A 6 × 14 2

12 Plane bearing 51105 5 67 Shaft with elastic ring type A 12 1

13 Lifting nut 2 68 Shaft with elastic ring type A 17 1

14 Flat key type A 6 × 20 1 69 Shaft with elastic ring type A 19 1

15 Hex head bolt full thread C level M12 × 55 1 70 fork 1

16 Type 1 hexagonal nut C level M12 1 71 Fork guide 1

17 clamp 2 72 bearing 1

18 guide bar 1 73 Shaft end ring 1

19 Variable speed core shaft 1 74 Ordinary flat key type A 5 × 14 1

20 base 1 75 Line heart gear 1

21 bowl 1 76 Jumbo washer C level 6 x 2 2

22 bowl spport 2 77 Hex head bolt full thread C level M6 × 12 2

23 Cylinder lock right hand 1 78 beater 1

24 Cylinder lock left hand 1 79 Phillips supplied pan-head screws M6 x 70 2

25 Inner gear ring 1 80 Hex head bolt full thread C level M6 × 20 10

26 Shield block 1 81 Flat washer C level 6 x 1.6 10

27 top cover 1 82 Phillips supplied pan-head screws M6 × 16 4

28 Allen cylinder head screw M8 × 35 4 83 Wire sheath 1

29 Standard elastic ring (assembly) 8 x 2.1 10 84 Plastic hexagon fine teeth nut C level M10 1

30 Allen cylinder head screw M8 × 30 4 85 Plastic hexagon fine teeth nut C level the M16 1

31 Allen cylinder head screw M6 × 20 5 86 Electric lid 1

32 Standard elastic ring (assembly) 6 x 1.6 2 87 24 v transformer 1

33 Shall handle 2 90 Overload protection 1

34 Type 1 hexagonal nut C level M8 2 91 contactor 1

35 Cross countersunk screw M6 × 12 8 92 Electrical box 1

36 Shaft with elastic ring type A 15 1 94 Type 1 hexagonal nut class A and class B M4 4

37 Deep groove ball bearing 6202 2 95 Phillips supplied pan-head screws M4 × 14 4

38 Hexagonal thin nut class A and class B M12 4 96
Phillips pan head self drilling screw  C type ST4.2
25 4

39 Standard elastic ring (assembly) 12 x 3.1 4 97 Travel switch block slice 1

40 Flat washer C grade 12 x 2.5 4 98 Shaft with elastic ring type A 16 1

41 Input shaft 1 99 Before the sign 1

42 Ordinary flat key type A 5 × 18 1 100 Phillips supplied pan-head screws M5 x 10 4

43 Large synchronous belt wheel 1 101 roller 6

44 Output shaft 1 102 Roller pressure spring 6

45 Deep groove ball bearing 6203 3 103 Synchronous belt HTD - 570-5 m - 15 1

46 Deep groove ball bearing 6204 1 104 Circlip for hole type B 32 1

47 Ordinary flat key type A 6 × 28 1 105 Circlip for hole type B 35 1

48 Ordinary flat key type A 6 × 40 1 106 Circlip for hole type B 40 1

49 translocation 1 107 Allen cylinder head screw M6 × 30 6

50 Skeleton oil seal 47 x7 2 108 Hook

51 clutch 1 109 Whip

52 Clutch gear under 1

53 Clutch on gear 1

54 Ratchet ring 2

55 Gear ring 2

BH30/BH40 PARTS LIST


